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(29 : kg)
75.8 60.4 29.5 17.6 66.2
> E: kg
[> ®E T 499ke
(75.8 4 60.4 + 20.5 + 17.6 + 66.2) + 5 = 49.9( kg)
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A4 BFEU oo Italr} 37, 7R 1170, okl 77 Sof 9ay

ot A4 g AE A o, FutE A 7He S 2 YERA L
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Y; @ @7 @7 97
(BE AL $)=3+11+7=21
(FE AdEe B F)=7
O = A= 1 = 1
(FFE AL 7HsH)= 5 =2
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e @ 0l B 8014 5 A7 91, s @ el Bk 1
M 2047} QUL L 7 A Bt 110704 6447} A o,
A3 g Al 300 94, W= 3 Aol 400914

|4, QA =2 S 7Ref 300
AR T GO H T =2 T Auidyrt?

> = =

> HE 638000

B

(AFF Zh)= 80 x 5 x 300 = 120000 (
(¥ F)= 40 x 20 x 400 = 320000 ()
(Z %)= 110 x 6 x 300 = 198000 (&)
mHakA] 120000 + 320000 + 198000 = 638000 YU Tt

e

)
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(9 F M) = (B)x (33 &)
=90x 7=630(71),

ES
(9 B F94) = (F9 F H)x (1719] 71H4)
=630 x 140 = 88200(¥)
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o BRAL 382kl 5ARS] BRA L] HEL AutA L7}

(4AFEe] BRA ] &= 41.6 x 4 = 166.4( kg),
(A BFA19] Bi)= (166.4 + 38.2) = 5
= 40.92(kg)
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(AA A+ )= (Bh)x (=9 )

= 546 x 6 = 3276 (§)

(@ Th= 1+ =)

= 3276 — (475 + 655 + 549 + 475 + 618)
= 3276 — 2772 = 504 (§)
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Ao F& 15x9 o2l & ),
15x 9+ (15-9) = 22.5 — 23 (¥)
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